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Fgo|4 25,000
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20 43,000
otZ2HE41(B1,B2G1,G2) 100,000
Hl Z o) =) 87,000
Hxg 54,000
Ef2 A 41,000
AsYns 40,000
1Y 10,000
o 10,000
e el 25,000
A 28,000
ol 25,000
Aatg 9 Apd 39,000
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3l 13,000
A7t 23,000
patetE7t 25,000
W85 5,000
L1A(E A g, 38 58] 20 e 0t Oy, Bk otd A& A4S UEE) | 250,000
Arstar x| | 67,000
AN Aol & 3%(Rgl, Rbl, Rg3) 70,000
=23 61,000
g5 45,000
& (Brix) 5,000
A4t 47,000
ZYAHE 48,000
pH 5000 | Al
&g dwHn=5) 160,000
AEI U 80,000
YU H#4(n=1) 18,000
YUY #42(n=b) 44,000
W F84) 22,000
daHn=5) ¥ thwHn=b) 50,000
e (874) 18,000
Atpulal(n=5) 72,000
Amdlakn=1) 30,000
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AR E A LHn=5) 52,000
2 Aol R L ALo] EA|U A(n=5734]) 77,000
2| AHg] ot i Afo] EX|Y A(n=1,734) 37,000
HRA R A (R 7]) 38,000
U A () 77,000
SRAEYCFEHIAUMA(GA) 35,000
SE2AER|C S U A (K 80,000
e ge]o 35,000
At 26,000




